Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - | « EXAMINATION — WINTER- 2016

Subject Code: 3312901 Date: 05- 01- 2017
Subject Name: Basic of Textile
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Q1 Answer any seven out of ten. £2Hill SlEURL Ulcloll scllel AU,
State two names of leaf fibre and seed fibre.

dls s1o1R Ual AlS SITUR oll A-A ol AV
State four names of bast fibre.

S1E5 URL AR ol SLETHR oll ollH AW

Give the definition of English count.

gocllal 51Go2 ofl cautvaul .

Give the definition of Tex count.

2al 5162 ofl catvaul WL,

Define the term: (1) warp (2) weft

cluAl AU (1) Al (R) Ase

Define the term: (1) spinning (2) weaving

cqruadl UL (1) ¥Wleflat (R) lello

Draw longitudinal and cross-sectional view of wool fibre.
A SIEUR oll olleA Al WicdR Eulld €L,
Explain what is ginning.

olo{lot AeA 9 UHestAl,

Give the definition of Denier count.

Soll2R 51Ge2 ol cautvaul wl.

Give the definition of Metric count.

Nl 51Ge2 ofl caulvall .

Cotton yarn of four lea having weight of 100 grains than find out its English
count.

AR Al Slest 2ol of dxat 100 Y&l B Al YR oll 5162 g U3
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Write the object of blow-room.

() oAl 3H oll dcfll sRUA.

(b)  Cotton yarn of 30Ne having weight of 3 grains than find out its length.

(1)  30° Sleet 5162 oll Alel of dxet 3 ABel B Al A YciR ofl doues M.

OR
(b)  Write the object of carding process.

() sSL QAU ol 3L LU,
(c) Draw the passage of material through carding machine and label the parts.
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stslot Hallet Hi HERlad R aUcltell M9l a9 Al A €131

U AONell ollH g2l

OR
Explain the burning test for identifying textile fibre.

el slAcRA Aol Hizoll oo{lol 222 UMl

Yarn having length of 100Km and weight of 3Kg than find out its metric
count.

100 SLML ol oll YR of dxat 3 SLAL B Al Aol Adls s1Gee

el

OR
State the object of winding process.

eSS oL YIRAY oll dcfll Ul

Nylon yarn having length of 40000 meters and weight of 400 gms than find
out its Tex count.

sllACat Alel ofl dolle 40000 Hl2R & A Ao et 400 AH & A

Aol 28t 5162 2.

OR
State the object of warping process.

atdlol NAY el Sl el
Explain the passage of material through plain power loom with neat sketch.

ot WaR ¢ Hl HERAA LR gaioll 1ol 2ae agdl €13

A Hostall.
OR
Give the classification of textile fibre.

22l $lAKR of cols0L .
State the object of sizing process.
AL NA™Y all Sl wRuLal,

OR
State the object of comber.

SLOR otl @l wRuAl.
Draw the flow chart of spinning process.
Alo{lot YIRAY ol sl A €.

OR
Draw the flow chart of weaving process.

clcflor YIRAY ol sl A €.
Draw the passage of material through warping machine and label the parts.
atUlol Hallet Hi 2ol AR Uclloll HIOT 289 AsAl WA 1R M

aaetl st g2l

Explain manufacturing process of wool.
g ol Geuteat yslal g5 i AHstal.
Explain manufacturing process of silk.
Rcs ol Gauleot ysla &5 Hi ML
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